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T FEHERE
= 1 6,787, 835
X R T
= 1 6,301, 043
X R T
= 1 6,301, 043
A =S X R G TE) EHR 15em JE 1. 5mm
=
10 311. 3,111
A =S X R G TE) EH 15em JE 1. 5mm
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10 320. 3,203
A =S X R A CTE) EH 15em JE 1. 5mm
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10 391. 3,918
A =S X R RS TE) R 15em JE 1. 5mm
=
10 331. 3,312
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A =S X R RS TE) R 15em JE 1. 5mm
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=
20, 000 127. 2, 550, 000

£ s W o s 3




HOOflf =%

THXSy « THE - FlH - A0 B S SLE AN G AR A & 2 (B EEM)
A AV PR R A AP KPR SR 15em FHE
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n 5, 000 130.3 651, 500
A AV PR R A AVER KRR B 15em R
H
n 100 143.3 14, 330
A VPR R A AVEA KRR B 15em R
ERESIHE
n 50 147 7,350
A VPR R A AP KPR SERRE 15em JINEA
H
n 100 148. 1 14, 810
A VPR R A AP KPR SERRE 15em JINEA
ERESIHE
m 50 150.9 7,545
A VPR R A AVER KPR B 15em A
H
m 1,500 163.9 245, 850
A VPR R A AVER KPR B 15em A
ERESIHE
m 1,500 167.6 251, 400
A VPR R A VR AR R 15em R
H
n 8, 000 114.6 916, 800
A VPR R A VR AR R 15em R
ERESIHE
n 500 117.4 58, 700
A VP R A AVEA PRI B 15em HR
H
n 10 130.4 1,304
A VP R A AVEA TR B 15em HR
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n 10 134. 1 1,341
A VP R A VR A ERR 15em JINEA
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n 8, 000 132.4 1, 059, 200
A VP R A VR A ERR 15em JINEA
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n 100 135.2 13,520
A VPR R A VR A ERR 15em JINEA
M RRESE
n 10 158.4 1,584
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A AV AR N AN TEAIT R 15em INEL
=}
m 1, 000 148. 2 148, 200
A AV AR N AN TEAIT R 15em INEL
SRESLEAES)
m 300 151.9 45, 570
A AV AR N AN FEAIT WRE 15em INEL
SRS
m 1, 000 179.8 179, 800
A AV AR N AN TEAIT R 30em NEL
=}
m 300 226.6 67, 980
X 2 HilE Y =X
m 10 518.3 5,183
X 2 HIE Y X HREE
m 10 759. 6 7,596
e
= 1 486, 792
RImE T
= 1 486, 792
AR B
= 1 389, 448
AR B &
= 1 97, 344
EPE L
= 1 6,787, 835
B ST ¢
= 1 1, 493, 804
MR R (B L)
= 1 1, 493, 804
Wi
= 1 8, 281, 639
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BTk X=giiv

= 1 4,960, 174
R 5]

= 1 13, 241, 813
— R

= 1 2,828, 187
Tk

= 1 16, 070, 000
THE B 2 %8

= 1 1, 607, 000
TG

= 1 17, 677, 000
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